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SH: NS AL
Ha: HYSYAH (ANLB2AALY L)

el D23 (AE2elArg ) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
PRSI 5,016
oJza 1,980
o x At 15,600
OLIctEH OIS (MUY FEH) 110
-5 g 0] et 10,000 * 1A 10
-S5HEHE Ol a~22 & 0fgt 20,0008 » 54 100
OdEzR=ER 1,020
-SSNE 15,000& * 12 = 12& 180
-A g2 13,000& = 58 = 12& 780
-Xga:2 5,0008 * 12 » 12& 60
02 =24l 1,200 0 1,200
ORERS 100,000& * 1204 & 1,200
202 Odl 3,024 0 3,024
01 = LHA YI 3,024 0 3,024
OAdZelAE A J2d =8| 3,024
203 YR =&t 3,140 0 3,140
02 It =& 440 0 440
OAEZelAtE & B3I H R =R 440
04 RENSELR=LH| 2,700 0 2,700
OAdZelAMEL BEAN2IYRFE| 2,700
405 RHoHE S HI 1,200 0 1,200
01 AL EZFH S 1,200 0 1,200

B 300,000& * 44 1,200




